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(m− 1)x + (1 −m)y + (m2 − 1)z = 1
my + z = 1

(1−m)x − y − z = −2¬¡Ïw®;Ð ¶ ¿P½ ·ÒÑÓ³ ½ ¼ ¶}¸5³ Ä ³5¸ ²k° º ± ³5· R3 ÀPÁbÔ�¿P±�½ ¹Pº R » °}¿ ¸ °}¿P½y±�ÀPÌ ºy³Y·�³ ½;Ä ³5¸ ² ³5¹Pº ½ Î
−→a = (1, 0, 1) » −→b = (0, 1,−1) » −→c = (1, 1,−1) » ³ ² −→d = (1, 3,−2)
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R3 Î {−→a ,−→b } » {−→a ,−→b ,−→c } » {−→a ,−→b ,−→d } ´¾ ´ Ð*Áb² ³5ºyÆ ±�¿ ³5º¡·�³ ½y° ¹ ½Ã× ³ ½ ¼ ¶}¸5³ Ä ³5¸ ²k° º ± ³5· F ³ ¿PÖ ³ ¿PÀ º Á ¼ ¶}º {−→a ,−→b } ´ ¬¡¿�ÀP°}¿P¿ ³5º À ³ ½9Á ÂT¹P¶ ×²k±�°}¿P½ ¼ ¶}ºy¶}Æ Áb² º ± ÂT¹P³ ½ ³ ² ¸5¶}º ²kÁ5½y± ³ ¿P¿ ³ ½ »T¼ ¹ ±�½ ¹ ¿ ³ Å ¶ ½ ³}´
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G = { (x, y, z) ∈ R3 / x − y + z = 0, x − z = 0 }
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´ ¬¡¿�ÀP°}¿P¿ ³5º À ³ ½¡Á ÂT¹P¶ ²k±�°}¿P½ ¼ ¶}ºy¶}Æ Áb² º ± ÂT¹P³ ½ »}¼ ¹ ±�½ ¹ ¿ ³ Å ¶ ½ ³}´Ù ¹P³5·�·�³(³ ½Ã²Y½ ¶ ÀP± Æ�³ ¿P½y±�°}¿�Ú
¬;Û}® µ;¶}·�¸5¹P·�³5º;·�³ ½9ÀPÁb² ³5ºyÆ ±�¿ ¶ ¿T²y½¡½ ¹ ±�Ä ¶ ¿T²y½ Î
¢ 1 −1 1
−1 0 1
1 2 1

» § 1 −1 1
−1 1 1
2 1 2


